
tiuGfs; 

  

             tbtk; Y= ± ( x ± b )2 + c 

,t;tbtj;jpy; ,Ugbr;rhu;ghdJ vOjg;gLk; NghJ tiugpd; rpy gz;Gfis tiugpid tiuahJ  
mwpe;J nfhs;syhk;. 

 

rhu;gpd; 
rkd;ghL 

jpUk;gw; 
Gs;spapd; 
jd;ik 

cau;T> ,opT 
ngWkhdk; 

jpUk;gw; 
Gs;spapd; 
Ms;$Wfs;  

rkr;rPu; 
mr;rpapd; 
rkd;ghL 

Y mr;ir 
ntl;Lk; 
Gs;spapd; 
Ms;$W 

Y = (x+b)2+C ,opT C ( ¯b, c) X = ¯b (o, b2 = c) 

Y = ¯(x+b)2+C cau;T C ( ¯b, c) X = ¯b (o, ¯b2 = c) 
 

cjhuzk;: Y = ( x + 1 )2 - 2 

 ,t;tiugpw;F ,opTg;Gs;sp fhzg;gLk;. 

 ,opTg; ngWkhdk; - 2 (=C) 

 ,opTg;Gs;spapd; Ms;$Wfs; (-1, -2) mjhtJ (-b, C) 

 rkr;rPu; mr;rpd; rkd;ghL (x = -1) mjhtJ (x = -b) 

tpdh 

  ,r;rhu;gpd; tiuig> X ,d; ngWkhdq;fs; -4 ,y; ,Ue;J +2 tiu vLj;J> xj;j  
  Y ngWkhdq;fis Jzpe;J rhu;gpd; tiuig tiue;J tha;g;Gfis rup ghu;f;f. 

 

 

tbtk;  Y= ± ( x ± a ) ( x ± a ) 

Y= - ( x - 1 ) (x - 4) 
 

 

 

(-1, -10)    (0, -4)    (1,  0)   (2, 2)   (3, 2)   (4, 0)   (5, -4)   (6, -10) 

 rhu;gpd; tiuig tiuf. 

(gf;fk; 55 ,y; cs;s ml;ltiziaf; nfhz;L ,opTg; Gs;spapd; Ms;$Wfis 
Jzpe;J tiuig G+uzg;gLj;Jf.) 

X -1 0 1 2 3 4 5 6 

- ( x - 1 ) (x - 4) -10 -4 0 2 2 0 -4 -10 


